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The figures in the margin . indicate
full marks for ‘the questions.

i. Fill m the blanks with correct options :
. 1x10=10

- (i) A conscious interaction process of
inves stigation, agreement and action is
— . {planned social change/directed
social r'ﬂange) ‘

(ii) L,__ made of distinction between
Q}sme and Ideational culture.
A (Darwin /P; Sorokm)
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(iii) T_he ‘Decline of West’is wﬁttén by _
‘ (Amold Toynbee/Oswald Spengler)

(w) The concept of urbanism is given by

(Robert Redfield /Louis Wirth)

{v) Who d13cussed Mechamcal and Organic
‘ Solidarity ?
- (G. Simmel/E. Durkhetm)

gave the concept of Modernization.

(vii) Impersonal Relatlonshlp is the
characteristic feature of. Society.
(Rural/lndustnal)

vi) ___ denotes the procesg of upward -
mobility. (Seculanzauon/ Sanslmtlzahon) _

| (ix) Social and Cultural Dynamics is written

by _. (Arnold Toynbee/P. Sorokin)
() ‘High birth rate and Low death rate
leads to population. N
' (stabilization /gxplosion)
‘ ~ AN\ Ty
Write short noteson: | T 2x5+10

‘() Social chenge is cbjective - |

fi) Industrialization

21 (4)80CI 43/G 2

(Daniel Thorner] Daniel Lerner)

(@iii) Class Consciousness
(i) Migration
(v) Assﬁnﬂhtion,

3. () What are the causes and sources that
o bring about social changé ? 6+6=12 -
or
(i) Expiain why the concept of evolution,
_ progress and development is necessary" _
-to-understand social change. 12
4, (i)~ Spencer’s concept of Evolution laid the -
- . foundation of sociological thought
Explam o _ 12
| Or
(i) Critically analyse Marx’s Conflict
- Theory. S 12
5. (i) Describe the stagés of economy in India.
' 12
Or ,
(i) How cultural change leads to soclal
change ? 12,
21 (4 SOCI43/G 3 Contd.



6. (i)
(i)

7. )
(i)

What are the cultural processes of

social change? Explain ‘any one of

them. = ‘ 12
or.

What is Urbanisation ? What are the

factors that led to urbanisation ?:
6+6=12

What is Social Mobility ? What are its

._determixiants? N 6+6=12

Or

What is vertical and horizontal
mobility ? What are ‘its consequences ?
: 6+6=12
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